e} [1/GeV]

G‘—O'IIU
2 t,2
d {pT cdot msl

1
dd

=
o
&

1077

Ratio to ATLAS

0.5

13000 GeV pp

B ATLAS
—A— Pythia 6.428 370

P

tTOp (ATLAS ttbar)

Rivet 3.1.10, = 2M events

— ---&-- Pythia 6.428 371 —]
[ --¥- Pythia 6.428 372 _
| - Pythia 6.428 376 _
©'
o
— <
— — M
— —]w©
o
B —1 M
| i
i %
B 1.5,
e
I | o
=
(]
©
wn
— —0o
B —
— — O
n | | | | | | | | | £
:| T T T T [ T T T |:
— 42
B . — T B
= ] SrTecSco ... oo ooo 1
- ... -lTizizie.o = _
— —0.5
| 1 1 1 1 M | M 1 1 1 M |
0 500 1000



	Contents
	Page 1


